ENERGY:

OUR ROAD TO CARBON
NEUTRALITY

2015 Carbon footprint: 8,030 tC0O2-e

3%
@ Energy

Company owned vehicles

@ Hired vehicles
@ Haulage - company owned

2% Haulage - hired

Haulage - external

@ Sca freight

2% 3%

@ Air travel

Source: GHG assessment 2014 and 2015, CO2balance

UK Farms:
@ Carbon intensity: 2.1 TCO2e/ Ton fruit (for 3815 Tons of fruit)
@ 2020 target: 1.6 TCO2e/ Ton fruit
@ We need to shave off 1600 Tons off our Carbon footprint

Next steps: calculate our 2016 and 2017 footprints, compare to the
baseline



Potential emissions reductions and cost savings (ESOS)
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Emissions reductions potential pa - Annual savings, £

Implementing all recommendations would reduce our 2015 Carbon
footprint by around 5%

Next steps: review and update the cost assumptions, check what has
® already been done, and make a new proposal

@® Implement!
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